BEEMBOAMETR (10%354)

F & Z R B e | —Reliis | = B | 5o
120|171 HEEHEEEEHEELA | (EAR) 1,980 2,200] smuL E ] R6.7.29
121]20-1 e EHEEFEEZTEHAL 1 5EH) 1,580 1,760] s £ | R5.11.10

Bl 122|13-1 REHEEEEETHALD 25 £%K) 1,580 1,760] sl @5 | R4.12.21
123192t ER B EFEETHA L (35EH) 1,580 1,760] s g4 | R5.11.20
124121 HHESFEEEETEAL WS EH) 1,580 1,760] smul t @yt R4.9.14
102|14-1 I ERSEEZTHA 1,870 1,980] smui -y | R6.4.11
103| & 5ThR29RI ZiELESE 2,090 2,310| 2mutms| R5.7.1

= 1041 EEEEFEREE(GYIND) 1,940 1,760] s+ s34 | H20.6.30
105|6-25Thr RfFEERREE (RThs) 2,871 3,190 @=mn R5.2.1
106|EERHETIS ThAMYPT L ERRBENHREES 693 T70] smpl ks | $F0246 7
108|2-1 &#T ZiHREZHOMES 5,447 5,762 T H20.9.25
109| 6 ER=BRBRAIEERZE 3,762 4180 my R5.8.10

E| 110195ThR2RI B R AE AR 4,851 5390 @mn R6.5.15
11| SR2EREFTE/NNE 4,356 4840 my R2.7.10
12| 2 ZHIEZ P ERBEEQKA 660 1,100] s £y | H28.4.1
114]1-2 2 5 & 17 830 1,047 smul b myt] H16.56
115 ERE A ATBE~Y =17 L (FEETHR) 2,376 2,640] 2m i1 £y | R5.11.10

& 11612 ERMESH 1,100 1,361 sl k| H26.3.22
18| EHEICE TR0 BEARBNURT VS 1,270 1,980] sl k| H28.4.15
125|2kET2hR 15/ EHAKROFEIE 1,584 1,760] 2/ t&mx| R6.3.1
126|65ThR EIEE{RE BB LI 1,188 1,320] smul | H29.7.10

128A18-4 EXREAXFEHBIEV\ETEIR) 84t 5,500 7,480] smuL k4| R4.10.26
132A40 E(EXBFHEAEXCD-ROM Verdo 2,860 3,520] s | R4.10.26
131]1-1 EXZEEHIRIFI0EH 1,100 1,320] s+ | H20.8.29
230|16-1 IEEXE S EERBEEERR) 1,870 2,090] smul £ gmp | R5.11.29
231121 EELEEEENBE(SER) 1,650 1,870] sl k| R5.11.20

S| 232|131 EESEEEEBEECEER) 1,650 1,870] smu tms| R6.6.6
233|6-1 HEEHEE T EMELECEER 1,650 1,870] sl ks | R4.10.26

1| 234|6-1 EEHEEEEELEUSER 1,650 1,870] sl k| R2.11.25
235|2-1 BEE DIEFEEBL-HDEBEIRDER 1,980 2,200] smu b mp]| H22.4.6

Ml 236[2-1 ZEZICKROONDIVTIMTVAER 1,980 2,200] smu rmu] H22.4.6
2371-1 ¥ aFo-av LAV NEBRIEE 2,300 2,640] smuL s | H23.12.13

7| 240]1-1 EHEEDT=HDESMER) 2,720 3,300] emu1 | H25.1.29
2411-1 BEE D1=-H DE ST (DVD) 3,820 5,500] et £ | H25.1.29

Ul 242|1-1 EEE DO DEEHI(EYER) 6,279 8,800 |3ty ksl H25.1.29
238|2-1 BHAIETLRAR HBEHER2R(EZR) 1,560 1,905] s tmx| R3.6.28

1 239]4-1 MBS EHEF2RAEEIRIREE(100R) 1,540 1,980] smul tmy| R5.4.22
249|141 HBERBEBOFSIWHR) 2,200 2,409 smui £ | H30.1.31

JU|  250|5-1 #BZEHEBFEDOFSI(LER) 2,300 2514 smurmy |RIT.12.24
251|12-1 PR 2 RIS EERIREE (200R8) 2,640 3,080 smui tmx| R5.7.20
252|171 ERE R 51 IR R RE S (2007) 2,640 3,080] smurmu] R6.4.17
253|14-1 ZiH BB FHRAERKER) HETAR 1,980 2,200 smu ] R4.33
254|7-1 B8 HEHARGE - HBR) TR 2,090 2,200] smu @ | R7T.9.17

Bl 255|101 B{REEHEHAGEEE) ik 2,090 2,200] st me| R6.85

Ul 256)1-1 B ERBERARGERR) FETh 2,090 2,200] smus @] H18.7.7

| 257|211 BHEHEHRARGEHE) TR 2,090 2,200 smutmp] R2.4.1
258|1-1 hRMIEEEH 1,930 2,095 smui £ mg| H13.1.31




=F = 2 I B ] — s | = & | 6T
259|2-1 EBMZERE 1,980 2,200] sm i1 k@ | H28.4.15
260|3-1 EEMRBEFEZHER 1,930 2,095] smurmy] R6.6.12
Bl 261|6-1 W EEEEE MEE (KM 2,200 2,420] smu £ me| R4.4.15
Ul 262l1-145 b e s TRIRE D5 5 B/IA S D30 500 880] smuL kst ] H27.8.20
7|  263|4-1 EE & - AELER 1 RIS EERIREE(25079) 2,640 3,080] smui x| H31.3.5
26418-1 EE & - ZIRELER 2 MRAE BRI RE £ (250R9) 2,640 3,080] smuL ks | H30.1.31
265|1-1 HAEEEAR B8R EREMB(ZZR) 1,960 1,905 smu £ | H31.2.27
266[3-1 B E HIEWMZ fm2 RAEERIRESE(1007) 1,940 1,980] sl + 44| R3.10.26
200121 R BFEZHEFDF5IHDHR) 2,090 2,409] smu £ | R3.4.20
201)5-1 ZBFEEHEFOFSI(LER) 1,991 2,200] smuL £ ] R5.1.21
Al 2150191 EFEZHE2MALIRIRELE (200/1) 2,640 3,080] smu tmu]| R5.12.22
X| 205|3-1 RBEFEZHEFE2BIESERIREE00R]) 1,540 1,980] smui £y | R5.9.21
Bl 204)7-1 RBFEEMHER 1 RIEERIREE(2007) 2,640 3,080] smuirms| R5.4.18
Bl 202|131 IR EZEHERDOT5I@HKR) 2,400 2,619 smui @] R6.4.17
Rl 203]8-1 R EZEHEHFDOF5I(LR) 2,400 2,619 smu @] R3.4.20
214)15-1 ek EEE T 2 RIS HERIRESE (200R]) 2,640 3,080 smuL 4| R3.10.26
207|6-1 FEERE (B E TS 2RI HRRIREE (100R) 1,540 1,980] smul E@ms4] R5.9.13
208|101 MEER M7 1 RS #ERIREE(200R9) 2,640 3,080] smuL 4] R6.5.21
209]12-1 ZifE S w5 (B63H) 1,540 1,650] 11muitme| R6.4.11
210041 HRBETEAR XBFEEHEB2MEZR) 1,560 1,905] sl @ | R3.12.10
211]3-1 BREEEAR HEREmERREZR) 1,560 1,905] smul @yt | R4.4.27
280|2-1iEEEFEHGEEER) HA 1 (EAXR) 1,320 O] == H24.8.8
281|3-1EEEXEHGEEER) AT 1 5£H) 1,320 O] == R2.8.20
2822 1EEEFEGEEER) BA D (25 £7) 1,320 O] == H24.8.8
283|3-1IEEEFEGEEER) A I (35X 1,320 O] == R3.2.22
2843 1IEEEXEGEEER) HA D (45 £H) 1,320 O] == R2.8.20
285| M HEEBDOF 620 838 smuL ks | H18.9.20
il 286 ZHEFOFS 1,980 2,200] smu1 k4| H18.10.30
87|21 RREFEEBDF 3 1,100 1,320] sl s | H26.11.7
289|2- 1 RBFEERBEHFBDF5I 1,540 1,760] sty | H26.3.22
29| BB EHFEEBDOF 1,760 1,980] smul tmyt| H19.7.3
T 279)2- 1R EREBDFSI 1,980 2,200] smui rmu| H26.5.24
288|3-1 EHIAEICLEEBMMBHREHES 1,980 2,200] smu1 ]| H29.7.18
293|124 ZiHEE DM (125T44R) 3,030 3,300] smu rmu] R5.8.10
423 ZfF iR 940 1,100] = & H20.11.1
E| 424|ZHBFE HBAN E-ERIK) 100fLLE 11,000 11,0001 = = -
A25|ZEFiR HRAN (ECFHRIL) 100fLLE 5,500 5500] = & -
5371-1TRIRRIREESE) MTF 1,040 1,152 sl £ ms | H21.12.16
539|1-11/ME- KAEIRIEESEI MF 1,150 1,257 sl £ ms | H22.11.25
E| s40|zgxnug bhYOFTULFEE 2,514 2,860] smu b mu]| H24.12.3
541|5-1 £X T4 TS50 —BBER[F15] 5,700 5,940] st | R3.10.26
542|5-1 +¥ T4 TS5 F—EBHA[F25] 2,400 2,420 st | R3.10.26
5384-1 +¥ T4 TS5 r—EEMEE 2,300 2,640] smurmu] R5.6.24
550[3-1 ¥ ayT1-av YL M EEHARLE1E] 5,230 5,940] smu g ] RIT.10.1
551[83-1 £FaT4-avH LAV FEEHRAR[F245] 3,030 3,080] smu | RIE.10.1
03| BB L EHE 870 1,100] smu | H28.7.27
304|F—7—KRI(T1710A74—hR) 1,320 1,650)21m 1 g H9.10.13
2] 309|tXxaUT1-¥=27ILNo.1 1,100 1,320 smu e | S61.2.20
310|Fa)T4- =217 JLNo.2 1,310 1,540 smu £ x| H3T.3.10
2 311|EXa)T4-<¥=217/LNo3 2,300 2,409 sl E ]| H9.6.17
312|zF¥2) T4 <Y =27 J/LNo4 2,300 2,409 smu | H7.4.1
#l 313|EXaUT4-<=2FILNob 2,510 2,619 smu g | H12.12.20




F & Z R B e | —Reliis | = 5 | 5o
403|Z1% 8 & FRMK (30 tzvh) 580 660 = =&
405|EF 2 T2 AL AS) 800 800] = =
407X T1484 L (R B KEER) 1,600 1,600 = = R5.11
409X T84 L (1 EBEH 10,000] 10,000] sesa
48| R -RUEHEDERIZATTERNE) 4,290 4730] = =& H22.4.6
421|security eye 155 660 770 = % H20.3.20
2| 422|securiTY HANDBOOK 280 330 ==& H25.11.1
AN |BABRARU RS/ —F 550 1,100] 1m215m |H26.11.12
A X )TARA LR F— 1,570 1885 = =&
4|54 (88) BHR 1,280 1,602] ==
A3|xy51E0 (£E) xR 1,280 1,602] ==
45|84 (88) &R 1,280 1,602] ==
MN7|xo81E (&) KHR 1,600 1923] = =&
432|951 E > (£)2015 1,540 2200] ==& H27. 5
2 4338 AE (8R) 2015 1,540 2200] ==& H27. 5
426l X)) T4 TS5 F—1 WP (SP) 1,250 1430] = =&
427X 1T 4-a Y LB RRAYT (SC) 1,250 1430] = =&
428|E /1 ¥ AJSSA (7)) 520 880 ==&
429]E>/RwT AJSSA (97)-) 520 880| ==&
430|E 2/ ¥ AJSSA (1Y) 520 880| ==
435| ¥ ) T4 TS5 F—2— L1504 (541 v} 1,100 1100] = =&
436 ABAA—23FVY)-1) FAE— 610 770 = = H28. 5
4371 ABRHh—2R3V9-1) SART IL— 610 770] == H28. 5
%l 438 ABRA—T@RVI-L) BV 610 770 = = H28. 5
43| A BRA—2(IVY9-1) EKF 610 770 = = H28. 5
A0 ABRAA—D(V 9-L) 4% 500AKLLE 590 748 = = H28. 6
AN ABRA—D(3Y9-L) 48 10004KLLE 580 738] = = H28. 6
442l x ) T4 YLV —IL1Y—F504 (531 1,100 1,100] = =
2449 —H— 990 1,320 = =& H25.6.7
245|5") —o=—h—(*7H74}) 770 990| = =& H25.6.7
246|5)—o<—H—(7' 1) 770 990| = = H25.6.7
247|5) —o=—h—(1TVY) 770 990| = = H25.6.7
248|5')—o=—h—HLUY) 770 990| = % H25.6.7
245-1 |97 -2—H—tyMF7674}) 1,650 2200 = & H25.6.7
2461 |pUvF-<—h—tvhG L) 1,650 2200 = & H25.6.7
247-1 |97 -2 —h—tEyNIvY) 1,650 2200 = & H25.6.7
2481 |pUw 7 -=—h—tykGHLLY) 1,650 2200 = =& H25.6.7
544|R & LIEFEDVD £6% 100,569] 149,496] = x
544-1|R & LI54EDVD (E1%) 17,809] 31953 = u
E| 544-2|% £ L1E3EDVD (F2%) 17,809] 31953 = u
544-3| R & L1S4EDVD (£3%) 17,809] 31953 = u
M| 544-4|R = LISEDVD ($44) 17,809] 31953 = u
544-5|R & L{S4EDVD (£5%) 20,952] 37,296] = u
544-6| R £ L153EDVD (£6%) 20,952] 37,296] &= u
507|fiESn S EHEDVDE2% 29,333] 47980 = u
507-1|HFSh 5 ZHEDVD (E1%) 24029] 26,609 = »
507-2| S 5 ZHEDVD (E2%) 24029] 26,609 &= m
545|TBUYE TY R 2—3 2 E M AL i IDVD (1) 9,428 14,300 &
502|RBFEEHE1HDOVD 264 90,776] 117,476] = #
502-1 | BFEZH1RDVD (F1%) 18,155 21,359] —##s520m
7| 502-2|3EFEZ 1 #kDVD (F2%) 18,155 21,359] —##s520m
JY 502-3|K B FHEEHE1DVD (E3%) 18,155 21,359] —##s520m




F & Z POEE B i | —Relmis | = F | 5<oT
A| 502-4)3EFEZ R 1#kDVD (E4%) 18,155] 21,359| —##s520m
502-5| K BFEZH1#RDVD (E5%) 18,155] 21,359| —##s520m
502-6|3 @ EZH 1#RDVD (F6%) 18,155] 21,359| —##s520m
522|HZHEHEDVD £26% 129,904] 162,380 =
522-1|#HEREHFDVD (F1%5) 27,238 34571 =
522-2|# EREHEDVD (F2%) 27,238 34571 =
522-3|# Em S HEDVD (£3%) 27,238] 34571 = u
£| 522-4|HEHELRSDVD (F4%) 27,238] 34571 = u
522-5|5 ZElr S HEDVD (£5%) 27,238] 34571 &= u
522-6|# LlE S XK EDVD (£6%) 27,238] 34571 = u
523-1| R BHEZHEF2HDVD (F15) EHF 20,952 27,238 = u
2| 523 2| R BFELHE2MHOVD (F2%) ERR 20,952 27,238] &= u
5241 | P2 275 24RDVD (5 1%) Bk 20,952 27,238] = u
524-2 | BB £ 75 24RDVD (F2%) Bk 20,952 27,238] = u
5251 |fEsR ZH £ 24DVD (F1%) ERR 20,952 27,238] = u
525-2|EER Z B £ 75 24kDVD (F2%) ERiR 20,952 27,238] = u
526 ZiE 2 ML EHmIDVD (15) EHR 20,952 27,238] =
528 RIFZIZ1EESEIDVD (£15) 16,761 20428] =
|  530)2-1 B2 B E B E R SR EDVD (£ 15) ¥R 15,400] 22,000| 45%c440m | R4.3.24~
TE]  532|2-1 Bis o e E B SR EDVD (£15) $51E 15,400] 22,000] a%c440m | R4.6.1~
E| 534 1B BB ERRERSLEDVD(£18) ¥R 15,400] 22,000| a5%c440m |R4.12.16 ~
BE| 536|-1BkEtpeEmagE-tEmEoVvD(215) 2] 13,200]  19,800] a#zc440m | R3.7.19~
553\ 1)T1-a Y LA RDVD(E 14) 1,881 3,300] 4s%cas0m| H24.7.6
2| 546|1- 1B FEEHERS1HOVD(218) £BE 17,600] 22,000] 4%<3r0m | H23.4~
2 AT HBEHEF1MOVD (£15) 2EE 17,600] 22,000] ss=<370m | H23.4~
Wl  548)2-3EERE £ 1#RDVD (£1%5) HETHR 2R R 17,600] 22,000] 4#%<cs70m| R5.1~
5491 -1 E(H £ BMR1HEDVD (£15) 2R R 17,600] 22,000] s=<370m | H23.4~
K| 600|%@/NE HHISEM 4,356 4840] = R5.12.15
|
T00)| 5 B E SH6ERR 8,514 9,460 440 R5.12.15
#| 7105|655 EFEFERDIODAE - SLHIE 1,782 1,980 330 H25.6.20
107|BEEEEHBYBEEEE 5 1,980 2,200 165 H28.4.10
T108| B EEESBRBEMEE (F75) 1,980 2,200 165 H27.6.30
&  709|\SRAVE —BSEWIET DED— 1,485 1,650 165 H31.4.25
TIO|SHSERES LY RE1E 14,850 16,500 330 R5.8.25
T|SHSERES LY RE2%E 14,850 16,500 330 R5.8.25
E| 2| SHMsEREE Y RESE 15,840 17,600 330 R5.8.25
3| EHEEREE LY RELE 12,870 14,300 330 R5.8.25
T4|70BHERRDER-E2WE 1,980 2,200 165 R3.11.25
S| 716 sH6ER HERBRFHELZHIRE—/—F 3,168 3,520 330 R6.5.15
T SH6E R F18- 1t SRERE ML/ — 1,980 2,200 165 R6.5.15
T18|HIE/S—h 241 L EEDEER 1,188 1,320 165 H27.3
To|&EHBIM A5t E KE-SB-BH 1,980 2,200 165 R5.3.20
733 HREF LD NSNS IER 1,980 2,200 165 H21.2.20




I—F & Z R B e | —Reliis | = 5 | 5o
800| B ERERME (2158 18,810] 20,900| pmy | hofa=t
801 B b EREEi% (R6.4 A MEITHUNUR) 5320k 1,584 1,760] 1#330H R6.5
803| B AN EHRIEE/ NV R T v o) 10,890] 12,100] #pmy | hofa=t

Z|  804] HREFRERE - RL/NVRTvo(nkH) 11,880] 13,200] #pmy | hofa=t
21| AM T EHRONEAERHARCEE: 1~498 501 501 sp=# | R6.1.12
822| A\MFEERONEABRHARGES S :50~299 400 400] szpms | R6.1.12
823| AMFEERDONEABRHARGESTE: 30088 LL 300 300] szpms | R6.1.12

D] 805|ITKDRAVYE EEmMMAR (MBEEXS) 31,428 - - -
806|[KDRAYE EEHIHR (REMNEXS) - 52,380 - -
807|I g B h— LAR—CBHR Y —E X 107,800] 129,800 - -
808|l B HPRAR - EHERI2EEDH 66,000 66,000 - -

] SIS CERIARXAFTAERFAGE10MR) 4,851 5,390] 1#ma60m | R5.4.1
814|ZE8 R&-BERTvN v 217 242) #p=r |H28.10.31
816| S HA4ENKI NRAERDEZF I DR (V&3] 2,772 3,080| 1#ma10m | R4.7
817| (kTR 2AX ERDE A& 3,465 3,850] 1#ma60m | R5.6.1
818t S NXKRITE EBERENIENEL 3,168 3,520] 1#m410m | R5.10.30
820|HE H5|- £ ERARMLEERYIVMRESE 1,833 2037 = =& H28.3.11
8307 4 RN—F R (FAANyH3MB4E) R AE—(S) 6,900 7,920 m%2 & i1 FE L ER
831|7 A RN—F R (FAAN 3B ) A E—(M/L) 6,900 7,920 38 S ik 175/ L S
832| 74 RN—F R (FAANyH3{E ) A E—(LL/3L) 6,900 7,920 m%2 & ffi#s1 FE L EH

/| 83T ARN—RR(PAANY)3ENM) FAE—(XL) 6,900 7,920 m%2 & fiss1 F AL EH
834| 7 A RN—FR R (FAANY)3B ) TIL—(S) 6,900 7,920 38 S ik 175/ L S

W 8357 ARN=RR(FAANYISE) T IL—(M/L) 6,900 7,920 m%2 & ffi#s1 FE L EH
836|7 A R/N—FR R (FAANY)3ESH) T JL—(LL/3L) 6,900 7,920 m%2 &l 1 F AL EH

I 837FARN—=FRR(FAANYIES) T IL—(XL) 6,900 7,920 m%2 & i1 FF LA E
8387 A4 RN—FR R (FAANY)3E ) F'L—(S) 6,900 7,920] 8 S ik 175/ Lk g

#| 839 FARN=RR(FAANYI3ESH) FL—(M/L) 6,900 7,920 8 S ik 175/ Lk g
840) 7 A RN—FR R (FAANY)3ESH) &' L—(LL/3L) 6,900 7,920 so%2 & i1 FE LA E
84| P A RN—=R R (FAAN I3 T L—(XL) 6,900 7,920 s%2 & i1 FE LA E
8427 4 RN—F R (FAAN 3B TS50 (S) 6,900 7,920 8 S ik 175/ Lk g
843| 7 A RN—F R (FAAN Y3 TS5 (M/L) 6,900 7,920] 8 S ik 175/ Lk g
844 7 A RIN—FR R (FAANYY3{E{F) T5v4(LL/3L) 6,900 7,920] 8 S ik 175/ Lk
8457 A RIN—R R (FAANy93MAF) TS5v% (XL) 6,900 7,920] 8 S ik 175/ Lk g
846|ZIAT A R/ w4 (3E+YH) 1,300 1,885 1% & ifits 1 F M LLE S
847|HBIA NSV 500 660 1028 8 M1 5 LLEE
8487 A R/N—F R (74 AN y93{E ) 30075 LA E 6,875 7,920 g
849 HMAT A R/ 8w (A v k) 300yl E 1,155 1,885 HEH
850 NEWF A AN—%R1=74—h (RAHFISE ) R AE— (I 7,500 9,020 s & i1 F ML
851NEWFA AN—2R1=74—h (R HISME ) FRT A+ (7)) 7,500 9,020 5022 & ffi#s175 M L0k s
410JAJSSA YT 27 A IL(FvT95—1+) 100 102] = =& R3.4
450|AJSSA T v (Hif) M 1,320 1324 = = H30.5
451|AJSSA T (Hfifa) L 1,320 1324 = = H30.5
452]AJSSA T (i) LL 1,320 1,324 = =& H30.5

2|  453JAJSSA TS (i) 3L 1,450 1500 == H30.5
454]AJSSA T (HiifR) 4L 1,450 1500 == H30.5
455JAJSSA REE RO v (Fif) M 1,730 1,733 = =& H30.5

2] 456]AJSSA REVAIUROL Y (FE) L 1,730 1,733 = =& H30.5
457JAJSSA REUE RO vy (fi) LL 1,730 1,733 = =& H30.5
458|AJSSA RAUA RO Y (FiE) 3L 2,101 2200 = = H30.5

%l 459|AUSSA REUE YU RO Y (M) 4L 2,101 2200 = =& H30.5
460JAUSSA R— LR 288 v—T RV (P =) 540 550 = & RJT.6
420|AJSSA FvwF(av-tyva) H4RLL /3L 2,860 3080] == R5.8.1




T = Z N B ] — R | = B | BT
434|AJSSA v -ARSYT 610 612] = = H29. 7

OFHLAH DI, RHRMBETEDTIEX T,

EEEEE -HEEEE N Y i
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ORENY DTEINFHBREFRABELILES,

SHM6E7 A 26 HIBFE(10%FA)

BEN Y HE
TR R EER - BRE IR AYD 1,320 1,320 = =
TR EER - BRE2HR YD 1,050 1,050] = =
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